
SAP ABAP table JITIT {Components Group}

JITIT

MANDT [CLNT (3)]

POSID [NUMC (10)]

JINUM [NUMC (10)]

ANLIE [CHAR (4)]

CNTRL [CHAR (4)]

EXTST [CHAR (4)]

INTST [CHAR (4)]

VBELN_VL [CHAR (10)]

CJIT01

MANDT [CLNT (3)]

CNTRL [CHAR (4)]
 JITIT-CNTRL = CJIT01-CNTRL 0..N

1

CJIT02

MANDT [CLNT (3)]

EXTST [CHAR (4)] JITIT-EXTST = CJIT02-EXTST 0..N

1

CJIT04

MANDT [CLNT (3)]

INTST [CHAR (4)] JITIT-INTST = CJIT04-INTST 0..N

1
JITHD

MANDT [CLNT (3)]

JINUM [NUMC (10)]

 JITIT-JINUM = JITHD-JINUM 
1..N1

JITPG

MANDT [CLNT (3)]

ANLIE [CHAR (4)]

 JITIT-ANLIE = JITPG-ANLIE 

0..N

1

T000

MANDT [CLNT (3)]

 JITIT-MANDT = T000-MANDT 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JITIT-VBELN_VL = VBUK-VBELN 

0..N

{0,1}


